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QUESTION 1

Which option needs to be set on a volume to guarantee that it cannot be affected by other volumes?
A. None

B. Volume

C. Space Reserved

D. Reservation Enabled

Correct Answer: B

QUESTION 2

Automatic host-side space management with SCSI T10 thin-provisioned LUNSs is achieved by which feature of ONTAP?
A. fractional reserve

B. space allocation

C. space reservation

D. volume auto-grow

Correct Answer: B

QUESTION 3

Exhibit.

You want to configure a UTA2 port as an FCoE target. Referring to the exhibit, which action must be performed?
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A. Configure the port mode as CNA.

B. Configure the port mode as Ethernet.
C. Configure the port type as initiator.
D. Configure the port mode as FC.

Correct Answer: A

QUESTION 4

Your server administrator upgraded a Windows 2016 Server from 16 Gb to 32 Gb HBAs. The application owner is now
reporting slower performance to the AFF A700.

Which two actions will help troubleshoot performance on the server? (Choose two.)
A. Verify the HBA model using Hardware Universe.

B. Verify the HBA firmware using the Interoperability Matrix Tool.

C. Confirm that LUN mapping exists.

D. Confirm that Windows Host Utilities Is installed.

Correct Answer:. AB

QUESTION 5

Changes to your organization requires access to an SVM be given to a group of individuals. Your company uses Active
Directory as a method of access control. You decide to use the security login create - vserver engCluster -user-or-
groupname CORP\Admins -application ssh -authmethod domain -role vsadmin command.

In this scenario, which access rights will this command grant?

A. read only rights to the SVM engCluster for Active Directory group CORP

B. vsadmin rights to the SVM engCluster for Active Directory group CORP\Admins

C. vsadmin rights to the SVM CORP for Active Directory group CORP\Admins

D. vsadmin rights to the SVM engCluster for Active Directory group CORP

Correct Answer: B
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